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The Paper

Contribution

e How do prices respond to long-run growth shocks?

e Real Estate intrinsic properties = how do local growth
prospects impact housing risk premia?

e The focus on long-run dynamics differs from previous
literature that connects location to economic activity
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Campbell-Shiller valuation identity requires either dividends or

net payout (not total payout)
Confusing notation: x; in equation 1, but x; = pd; after

Table 3: Lack of predictability in roughly 50% of the industries

A version of x£' should be central to analysis
o ICAPM vs CAPM
o Weak relation between E [r] and o (see Campbell et al (2017))

Tables 5 and 7 use different clustering methods

Some of the control variables (such as business cycle s) are
estimated. System GMM for standard errors.
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Minor Comments

Some Comments on the Model

e i.i.d shocks = Business Cycle Shocks?

e Can you generalize the As process to have non-zero ¢ in bad
times? Identification (equation 12) seems to depend heavily

on this assumption

e What is the role of MSA specific non-housing goods?
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Final Remarks

e Paper is very interesting: important question!

e Needs to better disentangle the difference between expected
growth and expected returns

e Good luck!
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